WILDRIDGE@ ASSEMBLY INSTRUCTIONS

S URVEYORS OF QUALITY POLY FURNITURE HERITAGE TRADITIONAL
Q SlZ UGS LCC-101

i ROCKER
330-893-4212 » www.wildridge.com

Required Tools:

- Cordless Dirill

« #2 Square Drive Bit
- Tape Measure
716" Socket

Hardware:

+(8) 1/4"x3" Lag Bolts
(8) 1/4" Washers

+(6) 1-3/4" Screws

«(16) 2-1/2" Screws

Parts:

A = (1) Left Side Frame
B = (1) Right Side Frame
C = (2) Stretcher

D = (1) Backrest

E = (1) Headrest

F=(1) Seat

G = (2) Armrests

H = (2) Runners

NOTE:The\
support
bracket

X should
be facing

outwards.

>/

Step 2: Next, place backrest (D) into position, as shown, lining it
up with the notch on the frame. Note: Do not place it at the top of
the frame, that notch is for the headrest. Using (4) 2-1/2" screws,
fasten the backrest to the frame thru the four holes provided.

Step 1: On a soft surface, place the left side frame (A) onto its side
as pictured. Position one of the stretchers (C) in the notch inside of
the frame as shown, making sure it is centered and straight with
the back leg, fasten with (1) 2-1/2" screw from the outside thru the
hole provided.

© 2022



WILDRIDGE@ ASSEMBLY INSTRUCTIONS

“FURVEVORS OF QUALITY POLY FURNITURE HERITAGE TRADITIONAL
: GROCKE[l)? 2 LCC'101

330-893-4212 » www.wildridge.com

' LA : :
Step 3: Place the headrest (E) into position at the top of the frame

as shown and attach with (2) 2-1/2" screws thru the two holes
provided.

Step 4: Place seat (F) into position up against the frame and in the
notches on the legs, turning it so the flush end of the seat goes
towards the back of the rocker, as shown. Place (1) 1/4" washer
onto (1) 1/4"x3" lag bolt and thread thru the front leg into the seat,
tighten, then repeat on the back leg.

J

Step 5: Next, position the remaining stretcher (C) into place as
shown, making sure it is centered and straight with the front leg,
fasten with (1) 2-1/2" screw from the outside thru the hole pro-
vided.

Step 6: Attach the right side frame (B) to the other side of the
rocker in the same manner as shown in Steps 1 thru 5.

© 2022



WILDRIDGE@ ASSEMBLY INSTRUCTIONS

S URVEYORS OF QUALITY POLY FURNITURE HERITAGE TRADITIONAL
Q SlZ UGS LCC-101

i ROCKER
330-893-4212 » www.wildridge.com

vy ‘b

Bm:wus z sz
o

hlmim L

Step 7: Stand the rocker up. Place one of the armrests into posi-
tion as shown, turning it so the curved side faces outward and the
straight side of the armrest is flush with the rail on the back side of
the frame.

Step 8: Then on the front side, under the armrest measure out
2" from the rail on the frame to establish how far out the armrest
should be positioned when attaching it in the next step.

Step 9: Attach the armrest to the frame from underneath at the back, middle and front using (3) 1-3/4" screws.

© 2022



WILDRIDGE,

PURVEYORS OF QUALITY POLY FURNITURE

330-893-4212 » www.wildridge.com

ASSEMBLY INSTRUCTIONS
HERITAGE TRADITIONAL

ROCKER LCC'1 01

Step 10: Attach the remaining armrest (G) to the other side of the
rocker in the same manner as shown in Steps 7 thru 9.

& : ; \ 4 -

Step 12: Fasten the runner to the front and back legs. Place (1)
1/4" washer onto (1) 1/4"x3" lag bolt and thread thru the runner
into one of the legs, repeat on other leg. Repeat with the remain-
ing runner (H) on the other side of the rocker.

Notch On
Runner Should
Be Up Against

\\\ The Back

Step 11: Turn the rocker upside down. Place a runner (H) into
position, as shown, onto the front and back legs by turning it so
the notch on the runner faces downward and is up against the
back leg.

I

Step 13: Your rocker is now complete.

Thank you for purchasing from Wildridge.

© 2022



